TEMPLATE:

MARTIN COUNTY, JENSEN BEACH HIGH SCHOOL,
MAIN SERVICE TESTING

MDPMP 225 PUMP BREAKER

VOLTAGES

2736

29.96Hz

0:00:06 < -2x

mz-mmml

UOLT AP
HABC

CURSOR

Waltage A/L1
72368 72358 72368 72368

#4448 H=z

0:00:01

aQ -2x U

09709410 16:19:22

VOLTAGE  HOLD
& ZODM , S, RUN

UOLT [AFP

HAabBC

CURSOR
& Z00M

4500 60H=z 38 UYE

Datablock

Mame  =“oltage A/LT Woltage B/L2
Date  =9/9/2010 9/9/2010
Time  =419.25PM 4:19:25 PM
Y5cale = 723EBV/Div | 72363V Div
T ALEDE = 0.00v 000y
HScale = 167 meDiv] 167 ms/Div
Harlz = 0.0 ms me
¥ Size  =300(300) 300 (300)
Masimurn = B59.24'V EB2E3V
Minimurn = -B53.37 BE2E3Y
Mame  =“oltage C/L3 Woltage N
Date =5/3/200 9/9/2010
000=  000=  000= 000 Time  =4192EPM  [31%28PM
¥ Scale = 723.68V/DW | 72363V Div
W ALEDE = 0.00v 0.00v
#Scale =  1E7 ma/Div 167 me/Div
HAarlx = 0.0 ms 00 me
® Size  =300(300) 300 (300)
Maximum = £51.21% 0.26%
Minimum = -E51.64 013y
Cursor Values
®1 211 ms
K2 231 ms
dx 20 ms
-723E8 72368 72368 72368 Y BRI
Y2 -BEREIV
0.0ms 1E.7 ms/Div d¥: 131805V
oltage &/L1
72368 72358 72368 72368 Datablock
Mame  =“oltage A/LT Woltage B/L2
Date  =9/9/2010 9/9/2010
Time  =419.25PM 4:19:25 PM
5cale = 723 EE VfDlv V23 B3V Div
T ALEDE = 000y
HScale = WE 7 ms/D\v 167 ms/Div
Haln = .0 ms me
¥ Size  =300(300) 300 (300)
Masimurn = B59.24'V EB2E3V
Minimurn = -B53.37 BE2E3Y
Mame  =“oltage C/L3 Woltage N
Date =5/3/200 9/9/2010
000=  000=  000= 000 Time  =4192EPM  [31%28PM
¥ Scale = 723.68V/DW | 72363V Div
W ALEDE = 0.00v 0.00v
KScale = 167 me/Div| 167 me/Div
marl% = .0 ms 0.0 me
® Size  =300(300) 300 (300)
Maximum = £51.21% 0.26%
Minimum = -E51.64 013y
Cursor Values
®1 211 ms
\“ K2 231 ms
[~ dx 80 ms
723 B8 V2368 TZ3E8 2368« Y1 BR324V
Y2 -BEREIV
0.0ms 1E.7 ms/Div d¥: 131805V

DEFAULT

UOLTAGE  HOLD
o . RUN




CURRENTS:

mﬂmﬂﬂ_

59.98H=z 0:00:03 = -2x

09509710 16:19:44 2rfl) G0Hz38 WYE DEFAULT

MUED AP | SSEURSOR

HABC & 001

Current C/LY
23| 23| e 2 T

2 e 2 Ba

Rt ]

Diatablock

194 184 184 184 s

0.0ms 1E.5 ms/Div

NEUTRAL:

H
" 02v]® 3
60.00Hz S 00012 A -2x =F

09709710 16:19:53 2rfl) G0H=z38 WYE DEFAULT
UVOLT AMP  CURSOR VOLTAGE HOLD

& Z00M RUH

Name  =Cumert&/L1 [Currert BALZ
Date  =9/9/2010 9/9/2010
Time  =41948PM (41948 PM
¥5cale = 216 ADiv | 216 ADiw
TALEDE = 22 A 2 A
H¥Scale = 165 ms/Div| 16.5ms/Div
Harlz = 00ms 0.0ms

¥ Size  =257(300) 297 (300)
Masimurm = 92 A 90 A
Minimum = 90 & 93 A
Mame  =Lunent B3 |Current N
Date =5/3/200 9/9/2010
Tirne: =41949PM | 47949 PM

YScale = 216 A/Div
WALEDE = 22 A

KScale =
HA0E =

# Size
axim

16.5 me/Div
.0 ms
297 (300)

um= 105 4

inimum =-109 4

216 AdDiw
22 A
16.5 ms/Div
ms
297 (300)

2 0A
4 A

A1

Cursor Values




PHASE OVERLAYS:

"2738u "2716v

$0.00Hz 00015 A -px < 60.00 Hz T 0:00:19 2 -8x <

© 277y

09509710 16:19:56 2rfl) G0Hz38 WYE DEFAULT

VOLT AMP  CURSOR ’-.H VOLTAGE HOLD
HY A B & 001 "y A RUH

09/09/10 16:20:00 2rfl) G0H=z38 WYE DEFAULT
UOLT AMP  CURSOR F, VOLTAGE HOLD
s

—F

HEAN B e & Z00M "4 A N RUH

“2666u |° GB A

59.99Hz @ 0:00:03 I -2x =F

iy

09709710 16:20:36 2rfl) G0H=z38 WYE DEFAULT
UOLT AMP  CURSOR F, VOLTAGE HOLD
A 5

—F

HnABC & Z00M "4 & RUH



“4707 v

59.97Hz @ 0:00:03 I -2x =F

09709710 16:20:42

UOLT AHP
Y A B

4300 60H=z3H WYE DEFAULT

CURSOR '"-.H UDLTAGE HOLD
& Z00M K . I RUH

59.99H=z O 00010 % -2x =F

09409710 16:20:49

UOLT AMP
HnABTC

4300 60H=z3H WYE DEFAULT
CURSOR F'"H VOLTAGE HOLD
e

4729 v

59.99Hz @ 0:00:06 A -2x =F

09709710 16:20:45
UOLT AHP

4300 60H=z3H WYE DEFAULT

CURSOR '"-.H UDLTAGE HOLD
& Z00M K . I RUH

HEAN B e

& Z00M K N RUH



VECTOR:

UOLT AP
A B C

Y ;scope

MUER AHP
A B C

Y ;scope

“4710v ["4729u | 74626 v " 56Al° 56A
8 < 8 <
Va funa 268.3 -24Q.———.  PHASOR Aafuna 46 . PHASOR
Ug fund £74.3 A funa 99
Ve fund 269.4 Ac funa 94
Hz 5999 ] Hz 5999 ]
BV aee 0 BAae - 36
Wge -120 g -153
Wee -241 BAce -280
-120 -120
09/09/10 16:21:05 480U 60Hz 38 WYE DEFAULT 09/09/10 16:21:08 480U 60Hz 38 WYE DEFAULT

"4730v |° 56 A|

VOLT AP
ARSERNE

=120
480U 60Hz 38 WYE
" ,scoPE

“4710 v
u A fund EEE.3
Hz 59499
Rafona 46
Tauem - 36
BApey - 36
BAge; -153
BAcey -£80
09709710 16:21:11

& =F
PHASOR

DEFAULT

Ug fund 274.3
Hz 60.00
A funa 99
Baue - 32
BAaey - 36
GAge -153
SAcey -280

VOLT AP
A B C

=120
480U 60Hz 38 WYE
" ,scoPE

4628v |  56A|
u C fund EEE.E
Hz 60.00
Acfona 94
By - 39
BAaey - 36
BAge -193
BAcey -o80
09/09/10 16:21:17

& =F
PHASOR

DEFAULT

09/09/10 16:21:14

VOLT AMP
A B R

=120
480U 60Hz 38 WYE
" ,scoPE

& =F
PHASOR

DEFAULT




HARMONICS:

Harmonics

ATHD 24.9%F0F K 3.3 |

THODC 1 2 3 4 s & 7
09/09/10 16:21:05 277U 60Hz 30 WVE

Harmonics
A THD 2.0 %f
S 00001
ap VOB g
[ L1 5 B

| LI SUURUREN 1 B | 0 P -

DEFAULT

& 0:00:03

o e

U .

E??U ﬁl]Hz 3H IJ.I"|"E

THODE 1
09709710 16: 21 3n

I]EFFIULT

U ALL
e

SSRGS S

A ALL
e

SSRGS S

HARMONICS TABLE HARMONICS TABLE
L (HITH ] £ -k L (HITH ] £ -k
Wt A B C mp A B C
THDx 33 34 35 46 THDw 240 233 271 53
H3x 33 33 3% 77 H3x¢ 41 94 B9 21
WS« 04 06 05 90 Hoxe 199 182 226 17
Hxe 02 04 04 54 Hexe 114 115 118 03
N+ 03 04 02 83 Nz 04 13 18 04
Hilze 03 03 01 37 Hilze 41 23 42 03
i3 01 00 01 64 Hi3w 22 23 25 02
HiS% 00 01 00 88 HiS%+ 03 10 08 04
09/09/10 16:21:41 277U G0Hz 38 WYE  DEFAULT 090910 16:21:47 277U G0Hz 38 WYE  DEFAULT
o | RUH | 2 | RUH |
HARMONICS TABLE HARMONICS TABLE
& 00002 £ -k & 0:00:03 U m-E

att A B C Ut A B C
Tz 03 05 05 45 THDw 33 34 34 46
H3x 01 - 04 03 05 H3x¢ 33 33 33 74
HSxe 01 01 01 02 WS« 04 06 05 G4
i 00 00 ol - 0 Wz 02 04 04 97

Hf - . - . . .
Hiles 00 - 00 - 00 - 01 e o
g - 08 - 00 - 00 D HSx 198 181 227 08

w0 - : : Hexe 113 116 118 07
09/09/10 16:21:51 277U G0Hz 38 WYE  DEFAULT 090910 16:21:55 277U G0Hz 38 WYE  DEFAULT

- | RUH | | UEA | | RUH |




PREV.

HERT

37

353

347

335

3238

A

253

287

275

2563

749

3264

2779

22.94

18.09

13.24 50

Rt ]

354

131

£16

A1m

383

27

359

347

338

323

an

233

287

278

263

aras

3264

2779

22.94

1809

HFII-'IMI]HI[:S TREHD
46.1%

-
-

383

371

359

347

335

373

an

293

287

275

263

3749

3264

2779

22.94

1809

CURSOR
U OFF

3238

an

233

287

278

263 «

00:00:00

3749

3264

277

Z00M 45+

% THDEF A1

2miDiv

% THD %I N

PREW.
HEXT

HARMOHICS TREHD
A 26.0% B MA%

CB6.9%

THD %F A

- EI.IHSDFI
= U OFF

Z00M 45+

2294

18.08

1324 pe 132450 1324 89

839

3.54

13

BB

BRI

8.39

3.54

131

BI1E

-11.01

B16

M s

00:00:00

26 s/Div

Dratablon

MName =% THDZEAALT % THDZFB/L2
Date =3/3/2m0 9/5/2010
Tirne: =4:22:04 P 4:22:04 PM
¥Scale = 012%/Div | 012%/Div
Y ALE0% = 323% 323%
H5cale = 2 m/Div 2 m/Div
AALO0%  =00:00:00 000000
X Size  =265(258) 255 [285)
Maimum = 3.37 % 343%
Minimum = 328 % 33 x
Mame =2 THDZI C/L3{% THD PN
Date  =9/9/2010 9/9/2010
Time — =42Z04PM 42204 PM
Y Scale = 012%/Div 012 %/Diw
Y ALEDE = 323% 323%
#Scale = 2 m/Div 2 mDiv
X AL0% = 00:00:00 00:00:00
%Size =255 [255) 255 (255)
Maximum = 352 % 54.78 %
Minimum = 343 % cricr

Cursor Values
#1 (0d 00:00:13 (9/9/2010 4:22:17 PM]
®2 (0d 00:00:38 (3/9/2010 4:22:42 PM]
dx 0Od 00:00:25
Y1: 333 334 33%
Y2330 332 3%
d¥: 003 002 0.01%

Dratablo

MName =% THDZEAALT % THDZFB/L2
Da =3/3/2m0 9/5/2010
Tirne: =4:26:33 P 4:26:33 PM
YScale = 485%Div | 485%/Di
Y ALE0% = 1324 % 1324 %
X5cale =26 s/Div |26 sDiv
AALD%  =00:00:00 000000
X Size  =52[288] 52 [255)
Masimum = 2633 % 24.45%
Minimum = 24 25 % 2386 %
Mame =2 THDZI C/L3{% THD PN
Date  =9/9/2010 9/9/2010
Time — =426:33PM  |426:33PM
Y Scale = 485 Z/Div 4.85 Z/Div
Y ALEDY = 1324 % 13.24%
#Scale =26 &Div |26 sDiv
X AL0% = 00:00:00 00:00:00
% Sie =52 [255) 52 [255)
Maimum = 2761 % 1313%
Minimum = 2679 % 345%

Cursor Values
#1 (0d 00:00:13 (9/9/2010 4:26:46 PM]
®2 (0d 00:00:38 (3/9/2010 4:27.11 PM]
dx 0d 00:00:25
¥1: GE5 EB92 897%
Y2: 467 G5EE 6.22%
d¥: -088 126 275%




TRENDS:

Pouwer &Eneray

FULL
A

10.74
13.66
:8.433
0.79
0.82
50

A
Urms 274.0

09509410 16:31:13

kU
kVA
kUAR
PF
OPF
Arms

& 0:00:11
B C

13.07
15.95
$9.135
0.82
0.85
o8

B C
ere.8 2670

2rrl) 60Hz 38 WYE

DEFAULT

| RUH |

VOLTAGES:

28410 28410 T

2 2
@962 2ranz

27723 7R3

27494 27404

272EE = 272EE =
27036 27036
268,07 26907
26579 26579
26343 26343

26120 2E1.20 =

00:00:00

CURRENTS:

B4 B4

EERp]

¥ R &/

123 5/Div

& Firns 4/L1 B

5 55

4B o

IF o dF

1 1 -

00:00:00

:(Wwwvmmmmumlllll|

120 &/Div

Diatablock
Name =% RAms AL [% Fims B/L2
Date  =9/9/2010  |9/9/2010
Time  =431:02PM |4:31:02 PM
W5cale = 229%/Diw| 229V/Div
W ALENE = 272ERY 27265V
HScale =133 /Div (133 s/Div
HAr0% = 00:00:00 00:00:00
% Siee  =253(203) |253 (253
Masimurn = 274.57 % 273.05Y
Minimum = 273.33% 271,33V
MName =
Date =5/3/200
Time: =4:31:02PM
YScale = 223Y/Div
W ALEN% = 2F2ERY
KScale =132 2/Div
A% =00:00:00
®Size  =253(253)

taximum = 267.75
tinimum = 2BE.81%

Cursor Values
#1 0d 00:00:12 [9/9/2010 4:31:15 PM]
®2 0d 00:00:38 [9/9/2010 4:31:40 PM]
dx (0d 00:00:25
YW1: 27385 27397 27402V
YW2: 27384 27387 27391V

dv -0.071 010 D11V
Diatablock

Name =& Ams A/LT |4 Fms B/LZ
Date  =9/9/2010 |9/9/2010
Time  =4:31:02PM [4:31:02 PM
Y5cale = 9A/MDiv 94/Diw
TALEDE = 464 4B A
H¥Scale =130s/Div  |1305/Div
HAr0% =00:00:00  (00:00:00
X Siee  =253(203) |(253(253)
Masimurn = 504 RS
Minimurn = 48 & BB A
Mame =
Date =5/3/200
Time =4:31:02 P
YS5cale = JAMDiv
YALEDE = 4B A
¥ Scale =130 ¢/Div
A% =00:00:00
®Size  =253(253)
Maximum = 58 4
Minimum = 554

Cursor Values

A1 Od 00:00:13 [9/9/2010 4:31:15 PM)
R2 Od 00:02:47 [9/9/2010 4:3%:43 PM]
dx Od 00:02:28

¥1: 60 B0 BOA

W2 48 48 484

dy 2 2 2h




WATTS:

1 = ! Full Total
632 632 832 T s Datablock
H ! Mame =% Full /L1 [w Full B/L2
: : Date  =9/9/2000  [9/9/2010
A 5.8 : i Time  =43102PM  [£31:02PM
: : YScale = FAKWDi| 74 KWDi
48 4 484 484 v v Y AarEDE = 262 Kw 262 kW
: : ®Soale =128 s/Div (128 s/Div
: : X AD% =00,00:00 00;00:00
a0 oo .0 ' i XSie =253(253)  |2530253)
. . Masimum = 1008 ki 137 kW
296 A6 e >;<‘ ------ X ----------- R e e Minirmurn = 10.2 ki 12,4 K
H ! Mame = W Full Tatal
: : Date  =9/9/2010  [9/9/2000
62% %623 ®2E : : Time  =43002PM  |4£3102PM
: : YScale = TAKW/Di| 74KWDiv
188 12m 188 H : YAUBOK = 26,2k 252 kw
H : XScale =128 s/Div |128 s/Div
. . X ALD% = 00,00:00 00;00:00
4 1 .4 " ; WGle =253(253)  |253(253)
: : Masimum = 12.0 kia/ E
40 40 40 : : Minimum = 11.2 kiw/ 333 kW
H H Cursor Yalues
34 34 a4 : ; X1 0d 00:00:13 (9/9/2010 4:31:15 PH)
: ' X2 O D0:00:38 (9/9/2010 4:31:40 PH)
: : dx: 0d00.00:25
0e  os 10e o : ¥1. 357 368 IBEKW
Y2 357 368 IBEKW
00:00:00 128 ¢/Div dv. 00 00 DOKW
4 WA Full Tokal =
635 635 835 T s Datablock
! ! Mame  =%& Full /L1 |4 Ful B/L2
: : Date  =9/9/20010  |9/9/2010
S5 568 %5 3 3 Time  =4I0ZPM [431:02PM
: : YScale = 7 KADv| 7 KWADY
495 495 495 ' ' T ALEDE = 285 kWA 285 kva
: %ast Cobode |tdode
t0% = :
425 28 425 i XSize =253(253)  |2531253)
| | Masimum = 127 k\Ma 16.0 kva
®E IES 355 : : Minimurm = 13.0 kv 15.3 ki
! ! Mame = W Full Total
= = 2 | : Date  =9/9/20010  |9/8/2010
|Ex 25z B/iZ : : Time  =43002PM [431:02PM
: : YScale = 7 K¥AMDIV| 7 k¥ADY
N5 7s 75 : : YAUBOX = 265 kA 285 ka
: : XScale =130 «Div (130 sDiv
. H X ALD% = 00,00:00 00:00:00
145 145 145 : : ®Glze =253(253)  [253(253)
: : Masimum = 156 ki 453 kua
75 75 75 : : Minimum = 14.7 ks 432 kva
| | Cursor Values
05 05 05 ; ; X1 0d 00:00:13 (9/9/2010 4:31:15 PH)
' ' X2 O D0:03:26 (9/9/2010 4:3428 PH]
: : dx: 0d 0003132
€5 BB 85 L : Y1 451 452 45ZKVA
Y2433 433 433KVA
00:00:00 130 /Div dv. 18 19 1.9kus
AR Ful Total
72 472 472 Diatablock,
Mame  =“AR Ful &/L1  [VeR Ful B2
Date  =9/9/2010 2/9/2010
HE a5 4a5 Tine  =431:02PM  |4:31:02PM
¥Scale = G7KYARDI| 57 KVAR/Div
38 3m8 358 Y ALEDE = 187 kWAR 187 kvaR
HS5cale =127 s/Div 127 &/Div
X AD% =00,00:00 00:00:00
301307 01 XSize  =253(253) 253 (253)
= Masimumn = 8.5 kMAR 9.3 kvaR
244 244 24.4 : Minirmurn = 8.1 kWAR 9.0 kWAR
H ! Mame = WaR Full Total
= = = : : Date  =9/9/2000 9/3/2010
R 187% ; 3 Time  =43L0ZPM [&:31:02PM
: : YScale = GFKYARDIV| 57 KVAR/Div
130 130 130 H : YALBOX = 167 kWAR 187 kWA
H | HScale =127 s/Div 127 &/Diw
X A% =00,00:00 00:00:00
[E S 7.3 : ; ®Glze  =253(253) 253 (253)
: : Masimum = 5.9 kWAR 277 KVAR
16 16 16 : : Minimum = 96 k¥R 267 KVAR
H : Cursor Values
41 41 41 : ; X1 0d 00:00:13 (9/9/2010 4:31:15 PH)
: ' X2 O D0:0337 (9/9/2010 4:3433 PH)
: : dx: 0d00.0324
98 48 98 o : Y1, 275 275 27EKUAR
Y2, 268 268 269KVAR
00:00:00 127 3/Div dv. 07 07 DTKUAR




POWER FACTOR:

FF A/L1

R

106 105 05 108 3

095 088 039 099

0%z 0s 0w 0%

085 085 035 06 :
07 07 073 07 %—%

R N N R

0B4 [OE4 [OEL D64 3
057 087 057 057 3
050 050 050 050 3
043 043 043 043 3
036 036 036 036 = :
00:00:00

130 +/Dive

DISPLACEMENT POWER FACTOR:

093 093 092 0.93

091 091 097 0.9

0.89 089 020 0.69

0.87 087 097 0.67

0.85 0,85 (155 0.85

DFF a1

083 083 053 0.83

1

0.81 081 021 0.81

079073073 0.79

077 077 077 0.77

078 078 075 0.78

073073072073«

00:00:00

T VT PR ACUUMA 4k AAAR

129 5/Div

Datablock
Name  =PF &/L1 FF B/L2
Date  =9/9/2010 9/9/2010
Time  =4:31:02PM 431:02 PM
¥5cale = 70 mPFDiv| 70 mPF/Div
TALEDE = 0F1PF 071 FF
H¥Scale =130 &/Div 130 s/Div
HAr0% = 00:00:00 00:00:00
¥ Size  =253(253) 253 (253)
Masimurm = 0.79PF 0.82PF
Minimum = 0.7 PF 0.81 PF
Mame =FF L3 FF Total
Date =5/3/200 9/9/,2010
Time: =4:31:02PM 431:02 PM
YScale = 70 wPFADiv| 70 mPF/Div
YALED%Z = 0F1PF 071 FF
XScale =130 #Div (130 &/Div
A% =00:00:00 00:00:00
®Size  =253(253) 253(253)
Maximum = 077 PF 073FF
Minimum = 076 PF 078 FF

Cursor Values

#1 0d 00:00:12 [9/9/2010 4:31:15 PM]
®2 0d 00:00:38 [9/9/2010 4:31:40 PM]
dx (0d 00:00:25
¥1: 078 073 073FF
¥2: 078 073 073FF
d¥: 000 0.00 0.00FPF

Diatablock

MName =DPF A1 |DFPF B/LZ
Date =3/3/2m0  |9/9/2010
Tirne: =431:02PM | 4:31:02 P
YScale = 0.02/Div [ 0.02/Div
¥ ALE0% = 083 0.63
XScale =129 s/Div[123  s/Div
AALOD%  =00:00:00 0o:00e00
X Size  =263[253) 263 (253)
Maimum = 082 085
Minimum = 081 0.84
Name =0FF C/AZ [DPF Total
Date  =9/9/20010  |9/9/2010
Time — =431:02PM [4:31.02 PM
Y Scale = 0.02/Div | 0.02/Div
Y ALED% = 083 083
#Scale =129 s/Div[123  s/Div
X AL0% = 00:00:00 00:00:00
%Se =253[253) |753(753)
Maximum = 081 082
Minimum = 073 0.8t

Cursor Values

#1 0d 00:00:13 (9/9/2010 4:31:15 PM)

K2
dix
Y108
Yz 081 081 08
dv: 000 0.00 0.0

0d 00:03:26 (3/3/2010 4:34:28 FM)
3




100

30

a0

T

E0

100

90

a0

70

EO

100

50

a0

T

E0

Yalks A4L1

17 ; — Datablock —
! ! Mame = Yalts A/LT

: : Date = 9/3/2010

' ' Time = 43610 PM
1 1 Fund = E0.0Hz
THDf = 33%

i i — Cursor Values —
i i %<1 : 180.0Hz

: : %2: S40.0Hz

' ' dx : 260.0Hz

; ; T 3%

H H 2 03%

| | dy 30%

; ; Pri: 20 "

: : Phz - 131 -~

F‘requencies [Hz)

Wolts BALZ

— Datablock —
Name =Valts B/L2
Date =9/9/200
Time = 4:36:10 PM
Fund = B0.0Hz
THDf = 34%

— Cursor Values —
%1: 180.0Hz
%2 : 300.0Hz
dx 120.0Hz
1 33%
Y2 0.7%
dvy . 26%
Ph1: 16 *
Ph2: -202

500 4200 5400 G600 7800 9000 10200 TH00 12600 1390.0 15000 16200 17399 18599 19799 20993 22199 23799 24599 25799 26999 29199 29299

Frequencies [Hz]

Wolts C/L3
— Datablock —

Mame =Valts C/L3
Date =19/3/2010
Time = 4:36:10 PM

Fund = E0.0Hz
THDf= 34%
— Cursor Values —
%<1 : 180.0Hz
%<2 300.0Hz
dx: 1200Hz
1 3%
2 05%
dy -29%
Phl: -343 ~
Phz B4 "

600 1200 f00<5 4200 G400 EE00  7E00 8000 0200 100 12600 13200 15000 16200 17394 18589 19798 20009 22198 23339 24598 26740 26999 23194 29394

Frequencies (Hz)



Yolts N

1
100 T — Datablock —
: Namne = Volts N
an : Date = 9/8/2010
: Time = 4:36:10 PM
: Fund =E0.0Hz
a0 : THDf =838%
: — Cursor Values —
7 3 %1 7ELOHz
' X2 2279.9Hz
B0 ' dx : 1820.0Hz
; 1 a0%
H 2 47%
60% | dy 34%
: Phi: &8 -
40 ; Phz: -248
n :
£l :
\ ii” thlsl bl ilh“hi PARARTRRR TR AT AT
AT AR AN A A AT AT
1800 2000 4200 5400 GED.O FR00 8000 10200 1400 12600 13200 16000 16200 17398 13583 197A8 20803 22199 23399 24533 2670 26399 28198 29399
Frequencies (Hz)
Amps M
100 17 " — Datablock —
3 Mame = Amps N
a0 i Date =9/9/200
| Time = 43610 PM
| Fund = B0.0Hz
a0 : THOf = 78%
| KFact= 13
7 ; — Cursar Valugs —
: %1: 750.0Hz
0 : W2 22739Hz
| dx : 1630.0Hz
; v 06%
50% ' Y2 01%
dvy:  05%
: Phl: 74
@ : Ph2: 8
an
£l

10

0 ||'.I'll.-.m-.n.-n.‘-\..m...-...-‘ e

B00 1900 3000 4200 5400 600

0 9000 10200 1400 12600 13800 15000 16200 17399 18599 19799 20993 22194 23799 24599 25799 26999 29199 29299
Frequencies [Hz]




100

50

a0

T

E0

100

30

a0

T

E0

Armps AJLT

— Datablock —
Mame = Amps &/L1
Date = 9/8/2010
Time = 4:36:10 PM
Fund = E0.0Hz
THDf =258%

600 1200

J— _— m —_— - - - - - — -
0200 11400 12600 1380.0 15000 18200 17333 18693 19748 20833 22133 23333 24538 26749 26339 28199 23099
Frequencies (Hz)

000 4200 G400 EEOOD 700

Amps B/LZ

AR RS SRS AR WA SRR R S F

| 1 __-I_ A A =w_ E B e . - - — - - — — — - - - - — -
BOO 1800 3000 4200 G400 BR0D 7800 9000 020 MOO 12600 BRO0  B00D 15200 1F3SS 19538 79 20003 229 23338 24599 267A0 26949 29098 26099

Frequencies (Hz)

Amps C/L3

- -_-I_ A A e D _m_ . L] - - - - - - — — - - - - - — -
BOO 1800 3000 4200 G400 BR0D 7800 9000 020 MOO 12600 BRO0  B00D 15200 1F3SS 19538 79 20003 229 23338 24599 267A0 26949 29098 26099

Frequencies (Hz)

KFact= 3.4

— Cursor Values —
%<1 300.0Hz
#<2: 4200Hz
dx: 1200Hz
Al 216%
2 N7z

dy -10.0%
Phl 93 -
Ph2: 148
— Datablock —

Mame = Amps BAL2
Date =13/3/2010
Time = 4:36:10 PM
Fund = E0.0Hz
THDf =241 %

KFact= 28

— Cursor Values —
%<1 300.0Hz
#<2: 4200Hz
dx: 1200Hz
Al 185%
2 iz
dy 75%
Phl: -164 ~
Ph2: 258

— Datablock —
Mame = Amps CAL3
Date = 9/8/2010
Time = 4:36:10 PM
Fund = E0.0Hz
THDf =27.3%

KFact= 35

— Cursor Values —
%<1 300.0Hz
#<2: 4200Hz
dx: 1200Hz
Al 229%
2 18%
dy 11.2%
Phl RE: T
Phz 25 7




100

a0

EO

60

80

100

100

a0

E0

40

20

o
o

20

40

£0

80

-100

100

a0

E0

40

20

o
o

20

40

£0

80

-100

“wiatts AT

1200 3600 E00.0 840.0 10800 13200 15600 17939 20299
Frequencies (Hz)

‘Watts BALZ

12000 3600 EO0.0 840.0 1080.0 13200 1560.0 17939 2029.9
Frequencies [Hz]

‘Watts CAL3

12000 3600 EO0.0 840.0 1080.0 13200 1560.0 17939 2029.9
Frequencies [Hz]

22799

22799

22799

2519.9

2519.9

2519.9

27599

27599

27599

— Datablock —
Mame =‘watts AALT
Date = 9/8/2010
Time: 36:10 PM
Fund = E0.0Hz
KFact= 1.0
— Cursor Values —
%< 1:  7200Hz
K20 22799Hz
dx: 15E0.0Hz
e 00%
¥ 2 00
dy 00%
2993.9
— Datablock —
Name ='watts BAL2
KFact= 1.0
— Cursor Values —
%1:  7200Hz
x%2: 22799Hz
dx: 1G60.0Hz
1 00%
2 00%
dy': 00%
29939
Datablock
Name ="watts C/L3
Date =9/9/200
Time = 4:36:10 PM
Fund = B0.0Hz
KFact= 11

29939



DELTA DATA:

Pouwer &Eneray
FULL ©  0:00:00 o @<k

A B C
kld 32.29
kVA 43.00

kUAR {2951
PF 0.78
OPF 0.81
Arms 50 58 58

AB BC CA
Urms 4720 4731 4632

09509410 16:37:17 4400 G0Hz 38 WYE DEFAULT
quTTE EHERGY TREHD

VOLTAGE

4 2 W Ams A/L1
48370 48370 48970 T . Diatablock

H | MName =% RmzAJL1 [V FHms B2

| ; Date =3/3/2M0 9/9/2010
49623 48529 4e509 : 3 T —49P17PM |a3717 P

H i Y Scale = 441%/Div| 4.41%/Div
48088 48083 4B0.GS 0% = 467.65 Y 46765V

! ' X5cale =156 s/Div |156  s/Div

H | AALD%  =00:00:00 o000
47647 4ATRAT  ATRAT : ; ®Size  =300(300) 300 (200]

i " Maimum = 472,92 47466V
208 A20E SR SRENEe /\ Minimum = 47120 47226

H | Mame ="/ Fms /L3
467.65 » 467 65 = 4R7EG = i i ?\fr:: ;3?;210;13,\4

: 3 YSeale = 441/Div
AEIEd 4ET24 4Eod ‘ B R R e e ¥ ALEDY = 46765 Y

#Scale =156 s/Div
X AL0% = 00:00:00
% Se  =300(300)
Maximum = 464,16

45883 45583 40583

46442 45442 4044

Cursor Values
#1 (0d 00:00:15 (9/9/2010 4:37.32 PM]
®2 (0d 00:00:45 (3/9/2010 4:38:02 PM)
dx Od 00:00:30

: Minimum = 45278
s0m 4E0m :

44560 44560 44550 & ' ' YA 47214 47216 47220
Y2 47214 47218 47224
00:00:00 156 5/Div dv. 000 002 0.04¥

CURRENT

& Fims A7L1

Moo 1 3 Datablock
! ! Mame = Rms A1 |4 Ams B/L2
' : Date  =9/9/2010 |9/9/2010
E | | Time  =4:3717PM |4:3717 PM
: : YScale = EADw | BA/Div
B B2 B2 : : YALE0E = 444 144
! : ¥ 5cale =152 s/Div 152 s/Div
X A0% =0000:00  |00:00:00
A ' ' % Size  =300(300) [300(300)
| | Masimum = 504 B34
50 50 50 l Minimur = 47 A& BE &
| ! Mame =2 Hms 003
: : Date  =9/9/2000
M Mg Mo : : Time  =43717 PM
: : ‘' Scale = BAMDiv
w1 3 ; : YAB0X = 444
| | % Scale =152 +/Div
: : X AL0% = 00,00:00
@3 w2 ! i X Size  =300(300)
: : Masimum = 554
% o o : : Minimum = 554
H H Cursor Yalues
o o : : X1 0d 00:0015 (9/9/2010 4:37.32 PM)
: : X2 O D0:00:45 (9/9/2010 4:38:02 PH)
: : dx: 0d00.00:30
AERE T I Fipe : : ¥1. B0 B0 BO&
Y2049 43 494
00:00:00 152 &/Div dv: 1 1 A




WATTS

39.0

w7

364

H

1

18
253
a2
29
86

273

260 o

00:00:00

VA WATTS

485
ar7
4649

46.1

‘wf Full Tatal

453

1

s
4453

413

ans «

00:00:00

VAR

IR |
3.4
ang

30.4

293

1

2845
=

284
2re
274

269 <

00:00:00

155 5/Div

Wi Full Total

B RRCEEEEEEP PEEE'x]

155 s/Div

VAR Full Total

B e EE PR S &

151 s/Div

Datablock

MName =" Full Total
Date  =9/9/2010
Time  =4:3717PM
Y5cale = 1.3 Kw/Div
T ALENE = 325 kw
H¥Scale =155 &/Div
HAr0% = 00:00:00
¥ Size  =300(300)
Masimurn = 35.5 K/
Minimum = 33,5 kW

Cursor Values
#1 (0d 00:00:15 (9/9/2010 4:37.32 PM]

®2 Od 00:02:14 (9/9/2010 4:39:31 PM)
dx Od 00:01:59
T1: 3563 /I ID4KW
T2: 335 336 33TKW
dv: 1.8 A7 17kwW
Datablock
Mame =4 Ful Total
Date  =9/9/2010
Time = 43717 PM

Y Scale =800 VAD
W ALEDE = 445 KVA

X5cale =155 s/Div
AALD%  =00:00:00
#Size  =300(300)
Maimum = 45.2 kv/A
Minimum = 432 kWA

Cursor Yalues
®1 Od 00:00:15 [3/3/2010 4:37:32 PM]
®2 0d 00:03:03 [3/9/2010 4:40:20 PH]
dx 0d 00:02:42
Y1: 450 450 451 KvA
T2: 433 433 434KvA
dv: A7 17 1TkVA

Datablock

MName  =%AR Full Total
Date =3/3/2M0
Tirne: = 43717 P

Y Scale =500 VAR/Div
Y AEE0%E = 204 KWAR

X Scale =151 s/Div
Aat0%  =00.00:00

* Size
Mairmum
binirmum

=3001(300)
287 kvAR
285 kVAR

®1
R2
dx

Y1: 205

e

d¥: .08

Cuisor Values
Od 00:00:15 (3/3/2010 4:37.32 PM]
Od 00:02:49 (3/3/2010 4:40:06 PH]
Od 00:02:34
295 297 kVAR
287 287 KVAR
08 1LO0KVAR




POWER FACTOR

PF Total

083 1 £ Datablock
i | Mame  =PF Total
; ; Date  =9/9/2010
o8z ‘ ‘ Time = 43717 PM
| H Y5cale = 10 mPF/Div
081 ' ' TALEDE = 07FBPF
: : ®5cale =108 s/Div
| | Har0% =00.00:00
nau ; ; %Size  =216(300)
i i Masimurn = 0.79PF
" " Minimum = 0.77 PF
Cursor Values
1 Od 00:00:15(9/9/2010 4:37.32 PM)
®2 Od 00:02:44 (3/9/2010 4:40:01 PM)
dx (Od 00:02:29
g w1: 078 079 079FF
| H w2 077 078 078FF
| | dv: 001 0.0 -0.01PF
0.78 : :
07 ; ;
074 3 3
07 <
00:00:00 1089 ¢/Div

DISPLACEMENT POWER FACTOR

DFF Total

Daatablock
MName  =DPF Total
Date =3/3/2M0
Tirne: = 43717 P
Y Scale = 0.01/Div
Y ALE0% = 079
X5cale =154 s/Div
AALD%  =00:00:00
#Size  =300(300)
Maimum = 082
Minimum = 0.80

Cuisor Values
®1 Od 00:00:15 [3/3/2010 4:37.32 PM]
R2 Od 00:02:54 (3/9/2010 4:40:11 PM]
dx 0Od 00:02:39

k] : : Y1 08 081 08
: : v2. 080 080 DED
: : 4 00 M

077 : :

07 : ;

078 : :

0744 : :

00:00:00 154 /Div



